
Fundamental Principle of Counting Activity Sheet

Q.1
A clothes factory has 4 designs of jumper and each design is available in 3 
colours ; red, blue and green. 


(i) Use arrows below to illustrate the choices available:
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(ii) How many different types of jumper can they produce? _____________
Q.2
Mary is buying a car. The models available are hatchback, saloon, estate, coupe and sports model.


Each of these is available in red, blue, silver or black.


How many cars can she choose from? _______________________

Q.3
A cafe offers starters, main courses and desserts. It has a choice of 4 starters,


6 main courses and 5 desserts.


(a) How many choices does a customer have, if he/she takes a starter, main course and dessert? ________________________

(b) How many choices does a customer have, if he/she only takes a starter and main course? ____________________


(c) If a customer is allergic to nuts and one of the desserts contains nuts, how 
many choices are available to this person, if they wish to order a starter, main 
course and dessert? _______________________

Q.4
(a) How many different four letter variations are possible by pressing the 
following keys on a mobile phone in this order? :   


3, 3, 7, 5            Answer___________________


(b)Can you find one word from the English dictionary, which is possible from 
pressing the keys in the same order as above? ______________________

(c)Write down 3 more examples of four letter variations from the pressing these keys (3, 3, 7, 5) in the same order as above, which are NOT words in the English 
dictionary.


(i) 
_______________




(ii) _______________





(iii)_______________

Q.5
Write down the order of 3 keys which would result in two words, that you would find in the English dictionary.


List the order of the keys.   ____ , ____ , _____

Q.6
(a) Write down an order of keys which would have 27 different 3 letter 
variations.


List the order of the keys. _____   _____  _____ 


(b) Write down 2 examples of 3 letter variations you could obtain using the 3 
keys you have chosen. (i)________________ (ii) __________________

Q.7
John is traveling to Paris. He is visiting a friend in England on the way.

He can go to England by ferry ( foot passenger ), aeroplane or ferry (with car ).

When he leaves England he can go to Paris by ferry ( foot passenger ), aeroplane, ferry ( with car ) or Channel Tunnel.

(a) Using these options, how many different ways can john travel to Paris


via England ? _________________________

(b) On the return journey home he decides to visit his friend in England again.

He does not want to use any of the methods of travel he used on the way out.

How many different ways does he have to travel home to Ireland via England ? ____________________________

Q.8
In this question ‘ a’ , ‘ b’ and ‘c’ are natural numbers.

(a) If there are ‘a’ roads between Town 1 and Town 2 and ‘b’ roads between Town 2 and Town 3,

How many different ways could you travel from Town 1 to Town 3 via Town 2 ? _______________________________

(b) Make up a question using numbers to explain your answer to part (a ).

(c) If there are ‘c’ roads between Town 3 and Town 4, how many different ways could you travel from Town 1 to Town 3 via Towns 2 and 3 ?

__________________________________

(d) Illustrate your answer to part (c) on a diagram.

(e) Make up a question to explain this answer.

Give this question to your teacher and check his/her answer.
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